www.apc.com

Shielding Troughs and Shielding Partitions

Overview

Shielding Troughs and Shielding Partitions separate power cables and data cables that are routed on the
roofs of enclosures in an InfraStruXure® system. The shielding troughs for the 80 kW InfraStruXure
PDU, the 20 kW InfraStruXure System, and the Rack Distribution Panel are two pieces. All other
Shielding Troughs are one piece. The NetShelter® Shielding Troughs and the Pass-Through Shielding
Partitions each have an opening for routing data cables in and out of enclosures.

Parts identification

80 kW PDU Shielding Trough (2 pieces)

@ 8-inch ground strap AR8178BLK (750-mm wide)
@ 24-inch ground strap Includes: (4)@;(16) @:(8) ®
@ M6 serrated lock washer

® M6 flanged hex nut

\ l
— >
Solid Shielding Partition Pass-Through Shielding Partition
AR8162ABLK (600-mm wide) ARS8163ABLK (600-mm wide)
AR8172BLK (750-mm wide) AR8173BLK (750-mm wide)
Each includes: (1) @;(4)@:(2) © Each includes:(1)@;(4) ®@:;2)®

NetShelter Shielding Trough Front Shielding Partition

AR8161ABLK (600-mm wide) ARB182BLK (750-mm wide)
AR8171BLK (750-mm wide) Each includes: (1) @;(4)@;(2) ®

Each includes: (1)@ ;(9)®;2)®

40 kW PDU Shielding Trough
Rear Shielding Partition ARBI60ABLK (600-mm wide)

ARS8183BLK (750-mm wide) Includes: (3) @;(12)@;(6) ©

Each includes: (1) @;(4) @;2) ® Inlzlll{KSIiSS :(z 1()7 g) -(T)mewg)e)e



Shielding Troughs and Shielding Partitions

How to install NetShelter Shielding Troughs

@ When installing NetShelter Shielding Troughs, be sure that the opening for routing data

cables is facing the front of the enclosure.
Note

Install Shielding Troughs along the back edge on the roof of each row of enclosures.
1. Insert the rear set of fastening tabs into the square holes along the back of the roof.

2. Squeeze the sides of the Shielding Trough toward each other at the bottom to insert the front
fastening tabs.

psx0329b

How to install one-piece PDU Shielding Troughs

Install the one-piece PDU Shielding Troughs on each 40 kW or 60 kW InfraStruXure PDU in your
installation.

When installing a PDU Shielding Trough, drape the power cables over the side of the
enclosure as shown. After you install all the Shielding Troughs in the row, route the
Note  power cables in the Shielding Troughs.

Install Shielding Troughs along the back edge on the roof of each row of enclosures.
1. Insert the rear set of fastening tabs into the square holes along the back of the roof.

2. Squeeze the sides of the Shielding Trough toward each other at the bottom to insert the front
fastening tabs.

psx0223b




Shielding Troughs and Shielding Partitions

How to install two-piece Shielding Troughs

When installing a PDU Shielding Trough, drape the power cables over the side of the
enclosure as shown. After you install all the Shielding Troughs in the row, route the

Note  power cables in the Shielding Troughs.

1. Install one of the trough pieces.
a. Insert the rear set of fastening tabs into the square holes along the back of the roof. Be sure
that the opening is facing the front of the enclosure.
b. Squeeze the sides of the trough piece toward each other at the bottom to insert the front

fastening tabs.

pdx0083a

2. Install the other trough piece in the same manner, aligning it with the front of the adjacent
NetShelter Trough. Be sure that the opening is facing the rear of the enclosure.

pdx0084a

Shielding Troughs and Shielding Partitions



Shielding Troughs and Shielding Partitions

How to install Shielding Partitions

Use the procedure in this section to install all Shielding Partitions. You can install Shielding
Partitions on a NetShelter Enclosure or a PDU.

1. Squeeze the two sides of the Pass-Through Shielding Partition to insert the fastening tabs into
the set of square holes toward the back of the roof, next to the Shielding Troughs already
installed.

2. At the width you need for data cables, install the Solid Shielding Partition in the same manner at
the front of the roof.

@ Use a Solid Shielding Partition at the front of the enclosure to ensure a finished

appearance.
Note

4 Shielding Troughs and Shielding Partitions



Shielding Troughs and Shielding Partitions

How to ground troughs, partitions, and ladders

To ground NetShelter Shielding Troughs and Shielding Partitions when the PDU Shielding Trough is
one piece:

1. Attach one end of a 8-inch ground wire @ (provided) to a ground stud on each trough and
partition, and secure with two M6 washers @ and an M6 nut @ (provided) as shown.

2. Connect the free ends of the ground wires to the ground stud on the trough or partition adjacent
to the first, and secure them with two M6 washers @ and an M6 nut @ (provided).

oD

<>
@<@
=

e

~
J

o |

/:OLlﬁF'p )

NetShelter NetShelter 40 kW PDU UPS

=
0 |

Shielding Troughs and Shielding Partitions 5



Shielding Troughs and Shielding Partitions

To ground Shielding Partitions and a one-piece Shielding Trough on an InfraStruXure PDU:

1. Attach the free end of one 8-inch ground wire @)
and one 24-inch ground wire @ to a ground stud
on the PDU trough, and secure them using three
M6 washers @ and an M6 nut @ (provided) as
shown.

2. Attach two 24-inch ground wires @: one to the

front of the trough on the PDU, the other to the
front partition, and secure them using two M6
washers @ and an M6 nut @ (provided) as
shown for each wire.

|
-

NetShelter

ns0473a

3. Connect the free ends of the ground wires
@ to a ground stud on the middle partition
(directly in front of the PDU trough), and
secure them with three M6 washers @ and
an M6 nut @ (provided) as shown.

6 Shielding Troughs and Shielding Partitions



Shielding Troughs and Shielding Partitions

4. Connect the free end of the ground wire @, from step 1, to a ground stud on the underside of the
PDU roof, and secure it using two M6 washers @ and an M6 nut @.

3 TR

ol o

(®)
D NetShelter u D 40 kW PDU

_

—0

~D0

NetShelter

UPS

ns0477a

Shielding Troughs and Shielding Partitions 7



Shielding Troughs and Shielding Partitions

To ground NetShelter Shielding Troughs and Shielding Partitions when the PDU Shielding Trough is
two pieces:

1. Attach one end of an 8-inch ground wire @ (provided) to a ground stud on each trough and
partition, and secure it with two M6 washers @ and an M6 nut @ (provided) as shown.

NetShelter 80 kW PDU UPS

NetShelter

o |
] |
ns0475a

\
|

2. Connect the free ends of the ground wires to the ground stud on the trough or partition adjacent
to the first, and secure them with two M6 washers @ and an M6 nut @ (provided) in the same
manner as in step 1.

8 Shielding Troughs and Shielding Partitions



Shielding Troughs and Shielding Partitions

To ground one end of each Shielding Trough and Shielding Partition on an InfraSruXure PDU
System:

1. Attach four 24-inch ground wires @: two to the front partition on the PDU and two to the PDU
trough (second from the back), and secure the ends of the wires using M6 washers @ and an M6
nut @ (provided) as shown.

—5o ||

i {
-

oy
:J NetShelter u B 80 kw PDU

ns0476a

2. Connect two free ground wire ends @ to a ground stud on the middle partition, and one free
ground wire end @ to the rear PDU trough. Secure using M6 washers @ and M6 nuts @
(provided) as shown.

Shielding Troughs and Shielding Partitions 9



Shielding Troughs and Shielding Partitions

3. Connect the remaining free end of the ground wire @, that you attached in step 1, to a ground
stud on the underside of the PDU roof, and secure it in place using two M6 washers @ and an
M6 nut @.

N—~

0 ||

Q
1 ]
ol o
NetShelter l ﬂ 80 kW PDU m UPS

|
)
S

[

ns0474a

How to ground ladders

‘ 5 Refer to “How to Ground the Ladder” in the Cable Ladder Installation with Troughs and
v Partitions Manual, included with each Cable Ladder, for proper grounding instructions.
See also

10 Shielding Troughs and Shielding Partitions



>

s _di..
([ [N |
\\ L\

RN\

This manual is available in English on the APC Web site (www.apc.com).
Dieses Handbuch ist in Deutsch auf der APC Webseite (www.apc.com) verfiigbar.

Deze handleiding is beschikbaar in het Nederlands op de APC Website
(www.apc.com).

Questo manuale ¢ disponibile in italiano sul sito web di APC (www.apc.com).
Ce manuel est disponible en frangais sur le site internet d’APC (www.apc.com).

Este manual est4 disponible en espafiol en la pagina web de APC (www.apc.com).
A~ =2 T NV<EZEOSFEICHIET 25 >IXAPC Y = 7% A k (www.apc.com) 5 X 7
»a—RT % * j«o

Este manual est4 disponivel em portugués no site da APC (www.apc.com).

Instrukcja obslugi w jezyku polskim jest dostepna na stronie internetowej APC
(www.apc.com).

[aHHOe pykoBOACTBO Ha PYCCKOM si3blke AOCTYnHo Ha cante APC (www.apc.com )

7E APC 22 A [ M3k I (www.ape.com) 5 ASF A SRR


http://www.apc.com

APC Worldwide Customer Support

Customer support for this or any other APC product is available at no charge in any of the following ways:
* Visit the APC Web site to access documents in the APC Knowledge Base and to submit customer

support requests.

— www.apc.com (Corporate Headquarters)
Connect to localized APC Web sites for specific countries, each of which provides customer
support information.

— www.apc.com/support/
Global support searching APC Knowledge Base and using e-support.

» Contact an APC Customer Support center by telephone or e-mail.
— Regional centers

Direct InfraStruXure (1)(877)537-0607
Customer Support Line  (toll free)

APC headquarters U.S., (1)(800)800-4272

Canada (toll free)

Latin America (1)(401)789-5735 (USA)
Europe, Middle East, (353)(91)702000

Africa (Ireland)

Japan (0) 35434-2021
Australia, New Zealand, (61) (2) 9955 9366

South Pacific area (Australia)

— Local, country-specific centers: go to www.apc.com/support/contact for contact information.

Contact the APC representative or other distributor from whom you purchased your APC product for
information on how to obtain local customer support.

Entire contents © 2006 American Power Conversion. All rights reserved.
Reproduction in whole or in part without permission is prohibited. APC, the APC
logo, NetShelter, and InfraStruXure are trademarks of American Power Conversion
Corporation and may be registered in some jurisdictions. All other trademarks,
product names, and corporate names are the property of their respective

owners and are used for informational purposes only.

990-1393E-001 I 10/2006

InfraStruXure
" APC


http://www.apc.com
http://www.apcc.com/support
http://www.apc.com/support/contact

	Overview
	Parts identification
	How to install NetShelter Shielding Troughs
	How to install one-piece PDU Shielding Troughs
	How to install two-piece Shielding Troughs
	How to install Shielding Partitions
	How to ground troughs, partitions, and ladders
	How to ground ladders

